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1 6 7 8 9 10 11 12 14 16 17 18 19
Karioxaucske - - 10C3 64 0,6 1 21 260 caHiTapHe BinMupanHa 3riMHO
KaTioxanceke - - 10C3+1z 91 0.70 1 27 435 __pvbauHs T4 BCHXAHHS Marepians
Karioxaucpke - - 10C3 /13 84 0.35 11 24 180 BHOIDKORE JEepeB JUCBOODAAKYBAHHSA
Karoxkaucrke - - 10C3+/13+bn 58 0.75 1A 25 410 “o < HE BUSBJICHO
KaTtioxkaHceke - - 10C3 66 0.70 I 22 320 e -
KarioxaHncpke - - 9C31bn 53 0.80 | 2] 310 - < «
KaTioxadcbke - - 10C3+ba+]i3 53 1085 ] TA 22 370 o - «
KaTroxanceke - - 10C3+/13+bn 91 0.70 I 27 430 <
Karoxancske - - 10C3+bn 80 0.60 I 25 300 e - «
KarokaHcpke - - 10C3+113 73 0.40 I 25 220 - s &
KaTtiokancpke - - 8C3213+bn 76 0.80 I 26 420 - < -«
KarmonxaHceke - - 93113 _67 1070 [ IA 25 360 - =
Katioxkancpke - - 10C3+bn+/I3+0¢ 55 1070 ] 1A 24 360 o e K3
Karroxanceke - - 10C3+HBrt]I3 76 1070 { 1A | 27 420
Kamowancbke - - 9C31 I3tbn 66 1 0.80 I 24 400 R « _«
KaryoxaHepke - - 6C34713 106 1 060§ II | 27 300
SICHOTODOJICHKE - - 10C3+bu 45 | 070 1 17 220 - “ -
SICHOTOPQICHKE - - 10C3+bn 45 0.70 I 18 250 - “ -«
SlcHoropoachke - - 10C3 4] 0.70 1 16 200 o “ -
| Slcnoropoaceke - - 10C3 63 | 070 1T 19 260 - “ “
ScHoropouchke - - 9C3(3N1C3(66) 39 1080 | 1A 19 300 3 « - e
SlcHoropoachke - - 10C3 48 0.80 1T 15 210 3 - - e
SICHOTORONCKKE - - 10C3 61 0.80 I 21 3490 3 = - e
SICHOTODOICLKE - - 10C3 48 0.80 11 17 260 3 - . o
SicHOTODONCBKE - - 9C31bn 49 1.0.80 L 18 260 2e - = -«
SlcHOTODOACKKE - - 9Csxlbu 49 0.80 I 18 260 2e “ Kopewnesa rybxa <




(

8

14

16

17

9

sicHoroposichke | 31 10 0.9 10C3+bn 56 0.80 1 20 28 320 2e cauiTapHe |BiaMupany 25 3TLIHO
SIcuoroposiceke | 38 18 0.8 10C3 76 0.70 v 15 26 180 3 pyOaHH4 Ta 35 Marepianis
Scnoroposiceke | 38 19 0.5 10C3 50 0.70 1A 21 26 300 3 BUOIDKOBE AEDEB 20 JIICBIOPAAKYBAHH
SAcuoroposceke | 38 20 32 9C3(76)1C3(46) 76 0.60 11 17 28 160 3e = - 25 He BUABIEHO
SlcHoropoaceke | 38 22 0.7 10C3 50 1 0.80 IA 21 26 340 3e - = 35 -
Scuoroponcekke | 39 6 0.6 10C3+bn 51 0.80 I 18 22 280 2e - = 25 -
Acnoroponaceke | 39 8 1.0 10C3+bn 51 0.60 11 17 22 190 2e - = 30 =
SAcuoroponceke | 41 1 7.8 10C3 54 1 0.80 I 21 26 340 4 = = 40 ey
SlcHoroposceke | 41 2 13.0 10C3x 54 0.85 1 21 26 380 4e = = 40 “
Slcnoroponceke | 41 9 1.0 7C3(76)3C3(54+0c| 76 0.50 I 20 36 170 4e = - 40 -
Slcuoroponceke | 41 10 1.2 10C3 52 1 0.80 1 19 22 300 4 - - 40 -
Scuoroponceke | 41 11 2.0 10Cax 52 1085 I 20 22 370 de = - 40 o
Slenoroponceke | 41 12 0.4 10C3 54 | 0.80 I 21 26 340 4e = - 40 -
Acuoroposiceke | 46 2 9.6 9C3(7N1C3(48) 71 0.70 il 18 32 220 3e = - 20 -
Acuorovonceke | 46 8 0.5 8C3(7112C3(48) 71 0.50 1 19 28 170 3 = = 30 -
Acuoroponceke | 46 16 18.0 10C3k+bn 52 0.80 1 19 24 290 3e - Kopeuesa 25 -
SAcnoroponceke | 46 23 1.1 10C3 52 0.80 I 19 24 300 3 - Biamupauy 25 -
Acuoroposceke | 62 4 1.0 10C3 53 0.80 1A 24 28 410 4e = Ta 40 -
Acuoroponceke | 62 5 1.3 8C3(28)2C3(45) 28 0.70 I 10 16 110 4e - JCpeEB 25
SlcHoroponceke | 62 6 2.9 10C3 63 0.70 1A 25 32 380 4e - - 20 =
Slcuoroposiceke | 62 9 3.1 10C3 63 0.80 1A 24 28 420 4e = == 35 “
Scuoroponceke | 62 10 1.7 10C3 53 0.80 A 24 28 420 4 - - 35 -
Scuoroponceke | 62 14 0.7 10C3 58 0.80 1A 24 28 4290 4 = 2 35 -
[LlepyeHKIBChKE 8 8 1.9 10C3+]i3+bn 91 0,70 1A 30 36 480 2e - = 25 =~
Pyusncpxe 9 3 1.7 5C31 134Bn+Qc 46 1 0.70 [A 20 20 230 4 - = 49 =
Pyansucpke 17 26 1.8 8C31/131bnt+3 71 0.65 [ 24 28 280 4e = - 45 -
PyAHgHCHKE 23 25 1.3 10C3+bn 111 | 0.50 1 25 36 270 4 - = 45 -
Pyangucpke 23 29 1.2 7C32bn1Qct/13 Sl 0.70 1A 21 22 260 4 - = 25 -
Pyiuscpke 24 24 2.0 10C3+/13+bn 53 1085 1 21 20 370 4 - = 40 -
Pvaudanchre 37 1 3.7 9C31bn 43 0.85 1A 20 20 310 4 - e 40 -
PyaHsAHCHKE 42 13 7.5 9C31bnt+]I3 66 0.75 1 23 24 330 de = - 25 o
PyaHSHChKE 44 19 2.5 8C32bn+]I3 86 0.60 11 22 32 250 4e - - 40 “
Pyansgsceke 50 14 3.5 10C3+/{3+ba 57 0.70 1A 23 24 340 de - - 45 -
Pvausncske 72 5 2.1 9C31bn 64 0.65 1A 23 24 300 4e - = 45 -
Pyausncpke 72 7 0.4 10C3+bn+13 99 1 0.60 | 27 36 360 4e - - 25 -
Pyansicpke 95 16 5.3 10C3+bn 63 0.70 [ 23 22 340 de - 40 -
JluTBUHIBCHKE 2 135 1.5 10C3+bnt+/13 91 0.75 {A 30 40 520 Je = = 40 =
JluTBUNHIBCHKE 6 16 12.0 8C32]13+bn 105 | 0.55 | 30 44 350 2¢ . - 25 -
JIUTBUHIBCHKE 9 18 1.1 10C3 80 | 0.60 1A 28 36 380 2e - - 23 -
JIMTBUHIBChLKE 9 20 2.6 10C3 80 0.40 A 28 36 250 2e == - 23 -
JIUTBUHIBCBKE il 2 1.9 10C3 61 0.70 1A 24 26 360 2 - - 20 -
JluTsuHiBCHKE 11 15 0.8 10C3 61 0.80 1A 24 26 410 2 = = 20 e
JluTBuniBCchLKE 11 23 0.7 10C3 56 0.85 | 21 24 370 2 = - 20 =
JlMTBUBIBCLKE 11 24 1.4 10C3 46 0.80 1A 21 24 334 2e - - 20 -
JIuTBHUHIBCbKE 17 11 5.3 9C31JI3+bn 102 | 0.60 I 29 40 380 2e - - 25 =
JIUTBUHIBCHKE 17 i9 L1 10C3+/13 81 0.80 1A 28 32 500 2e - - 23 =
JIMTBUHIBCLKE 26 27 2.9 10C3+bn+]13 81 0.75 1A 28 36 460 2e - = 25 =
JluTBrHIBCLKE 37 14 3.2 10C3 56 0.85 1A 24 26 445 2¢e “ - 20 -
JINTBUHIBCbKE 39 2 17.0 8C32bn 51 0.80 1A 22 24 340 2e - - 20 s
JIvTBUHIBCBKE 41 20 1.3 10C3 61 0.80 i 22 26 370 2e - = 20 -
JIUTBUHIBCHKE 41 22 1.0 9C31bn 46 0.80 1A 20 24 310 2¢ = 2 20 =
JIMTBUHIRCLKE 41 23 4.9 10C3 61 0.85 I 21 24 390 2¢e - = 20 e




2 3 4 38 9 10 1 12 13 14 15 16 17 18 19
KaM'sTHCBKeE 7 2 1.5 4C36bn+/13 41 0.85 I 17 20 200 2 caditapre |BiaMupanns 30 3riHO
Kam'sncpke 7 S 0.7 6C3(26)2bn1J131C3| 26 0.60 1 11 16 110 2 pyOaHHg Ta 36 marepianis
Kam'siHcbke 7 12 4.9 8C32][3+bn 59 0.70 1A 24 28 320 2¢ BUOIDKOBE JIEDER 18 JICBIIOPANKYBAHH
Kam'ssHcoke 7 13 4.0 8C32]/13 61 0.70 1A 25 28 355 2e - == 32 HE BUSBJICHO
Kam'auceke 7 24 35 7C33 3+ 3tAnetb| 49 | 0.80 I 20 24 294 2e - - 28 -
Kam'srcnke 19 S 1.9 10C3+]13+H3 86 ] 0.65 IA 29 32 430 2e - = 25 =
Kam'sauceke 19 6 2.8 10C3+/13 86 0.60 | 1A 29 36 400 2¢ R “ 31 -
Kam'sucpke 20 4 5.6 10C3+bn+/13 91 0,60 | 1A 30 40 410 2e - - 23 =
Kam'snceke 20 6 1.6 10C3+/13+13 91 0.55 IA 30 36 380 2e caditapue |BinMupanH 28 3TiTHO
Kam'sucbke 21 1 3.5 10C3+]13 91 0.50 1A 30 40 350 2¢ pyOanug Ta 33 marepianis
Kam'srceke 21 13 1.9 5C3431bn 84 0.70 A 29 36 380 2e BUOIDKOBE ZIIEDEB 18 JUCBIIOPSTKVBAHH
Kam'suceke 21 14 0.5 10C3 91 0.60 1A 31 36 450 2¢e = == 28 HE BHUABJICHO
Kam'aHcbke 21 15 2.2 6C33]131bn 90 0.60 | IA 30 36 310 2e “ 21 -
Kam'srcbke 21 17 5.1 4C34]132bn+0¢ 91 0.70 IA 30 40 360 2e = e 21 =
Kam'arceke 32 3 1.2 10C3+]13 91 0.70 A 30 36 500 2e = == 26 -
Kam'suceke 32 10 1.1 9C31/I3+bn+l3 91 0.60 | IA 36 44 400 2¢ - = 33 =
Kam'scpke 33 | 1.3 10C3+/13 86 0.35 1A 29 36 310 2e - = 18 =
Kam'aucbke 33 10 5.2 10C3+]13+H 3 86 0.55 I 28 32 350 2e - - 30 -
Kam'auceke 33 25 2.5 10C3+/13 102 1 0,60 I 30 40 430 2e - - 32 -
Kam'sarenke 33 22 0.8 9C3113+bnt+l"3 57 0.70 | IA 25 28 370 2e = - 3 e
Kam'aicbke 36 8 1.7 8C325net+/13+bu 55 0.70 IA 24 26 390 2e = = 24 =
Kam'suceke 45 2 4.1 8C32/13+bn 76 0.70 { 1A 28 36 410 2 - - 24 -
Kam'siucpke 45 15 1.3 8C32 1343+ AKO 75 0.70 1A 28 36 420 2 - = 20 -
Kam'anceke 45 18 1.2 8C32/13+bntl™3 131 } Q.55 I 31 44 370 2e - = 40 -
Kam'aucbke 58 22 5.0 9C3 113+ 3+bn 80 0.70 1A 29 36 440 2e - o 27 -
Kam'aucoke 58 24 3.0 7C33 /133 105 | 060 | 1A 31 44 380 2e B - 32 -
Kam'stucbke 85 1t 1.7 8C3(100¥2C3(120) | 100 | 0.65 [11 21 32 250 2 - - 19 -
Kam'aHcbke 86 2 0.9 10C3+AK6 81 0.75 A 29 36 490 2 - x 25 -
Kam'saHebxe 86 3 1.1 10C3+bn+Ak6 81 0.70 1A 28 36 440 2 - - 45 =
Kam'sitnebxe 86 8 2.6 7C3(130)Y3C3(80) 130 ] 0.40 1 26 44 220 2 B - 40 -
Kam'gucbke 86 12 1.9 7C3(130)3C3(80) 130 | 0.45 11 25 44 220 2 - - 24 -
Kam'suchke 86 16 3.8 10C3 67 0.80 11 18 22 250 2 e - 18 -
Kam'aucoke 86 18 2.7 10C3 130 | 0.45 il 25 40 203 2 - - 23 -
JIHinpoBschke 10 6 5.0 10C3 44 0.75 1 18 20 260 de - = 30 -
JHinposcexe 10 21 6.4 10C3 82 1070 11 23 28 345 4e By o 25 -
JlHinpoBebke 11 16 2.0 9C3(76)1C3(86) 76 0.65 1t 22 28 310 de - - 20 -
Juinposcbre 11 17 1.9 8C3(8012C3(60) 80 0.70 I 23 28 330 4e - = 40 -
JIHInpOBChKE 12 1 1.4 9C3(86)1C3(96)+bn| 86 0.60 1 25 32 320 de = - 25
JHINpoBchKe 13 16 0.7 10C3+/13 58 0.70 i 21 24 310 de - = 25
Juinposchke 15 2 7.2 8C3(6T2C3(66)+bu| 67 0.70 1 23 28 345 4e - - 3 =
JlHinposchbke 19 11 6.9 10C3+/13+bn 54 0.85 I 19 18 320 4e - - 20 -
J{Hinposchie 19 22 0.6 10C3+bn+/13 50 0.65 IA 21 22 280 de - - 20 -
JIHIIPOBChKE 22 4 0.6 10C3 86 0.60 [ 25 32 330 de - - 25 =
JHinpoBcbke 22 6 0.8 10C3 86 0.60 11 24 28 310 4e - = 20 -
Jluinpopcbie 23 3 38 7C3(51)3C3(56) 51 0.75 1A 21 22 345 4e e - 30 -
JIHINpoBRChKe 24 2 5.5 9C3(106)1C3(86)+b) 106 [ 0.60 1l 25 36 310 de - = 25 -
JlHinpoBchKe 24 3 7.5 10C3+/13+bn 54 0.75 | 21 22 33 de - - 45 -
JIHINPOBCHLKE 24 17 2.3 10C3 58 0.70 | 21 24 310 4e - = 25 =
JIHIOPOBChKE 26 3 0.7 8C31Baulbnt/I3 66 0.60 | 23 28 270 4e - - 20 =
Juinposcpke 27 16 1.3 10C3+AKG+bu 53 0.70 L 21 22 310 4e = - 35 =
Juinposebke 30 18 1.8 10C3(63)+C3(73) 63 0.80 1 21 22 350 3 - o 30 -
JHinpoBchke 30 19 1.3 10C3 50 0.85 11 17 18 285 3 = = 35 -




3 8 12 13 17 19
POBCbKE 1 10C3 23 26 BinMupauu 3riHO
{HINPOBChKE 2 8C3(5NibnlCa(47 22 24 Ta Marepiamnis
Juinposchke t 10C3+bn 24 30 JIepeB JICBIIODAIKYBAHH
JIHINDOBChKe 3 10C3t+bn 24 28 > HE BUSBJIEHO
JIHinpoBchbke 6 10C3 24 28 e Sl
JninpoBckke 5 10C3+bn+Bay 25 36 - e
JIHINpoBChke 20 10C3 27 36 < =e
Jninposchke i 10C3+]13 27 30 e -
JHinpoBcLke 10C3+13+bn 2] 24 Biamupann 3CiIHO
JHinpoBchke 10C3+bnt/13 21 20 Ta Martepianis
JIHIIDOBChKE 10C3 21 24 JIEDEB JICBIIONATKYBAHH
JIHINpoBChKe 10C3 21 24 - HE BUSBJICHO
JIHIOPOBCBKE 10C3 21 24 = -
Juinposcbke 10C3+Bn+/13 22 32 - -«
Jlinnoscebke 7C33bn+/13+Bay 22 24 “ -
JIHIOpOBChke 10Ca+bn 27 32 x =
JIHIOpoBChke 10C3 25 28 = =
JIHIinpoBChke 10C3 24 28 = Ao
JHinposchke 10C3+bn 2] 22 « <
JHinpoBcbke 6C33bn1Bau 22 22 = =«
Huinposchke 10C3+bn 26 36 = -
Huinnoschke 9C3 btz 19 20 - -
JIHinpoBchke 10C3+/{3+bn 21 20 . -
JIHIIpOBChKE 9C31bn 21 20 s -
Jlininposebike 10C3+/13+bn 24 26 e -
JHInpOBCHKE 9C31bn+/13 20 20 o =
JHinpoBebKe 10C3 23 28 o -«
Jluinposcoke 10Cs 23 26 o =
JIHinpoBcpke 10C3tbut+Bay 23 24 o -
JHINpoBChKe 10C3+br+/13 25 36 ) -
JuinpoBebke 10C3 i 24 28 = =
Jluinposcbke 10C3 1 23 26 = -
JHinpoBchbie 9C3(7631 C3(50)+bn 1 21 24 . -
JIninposcere 10C3+bn+ 3 1A 21 20 - “
JHINpoBchKke 6C3(8 N C3(101+b 0] 21 28 e e
JuigpoBebke 9C3(66)1C3(53) L 22 26 . -
Juinposcbke 8C3(56)1C3(86)1Bn ) 21 22 - -
JIHINpOBCBKE 10C3+bn+/13 | 23 26 - -
Jninposebke 10C3+bn I 23 22 - o
JHigpoBebke 1.0 10C3+bn 1A 22 22 o -
JHINpoBChke 0.5 10C3 i 27 32 = -
JlHinpoBchke 2.3 10C3+bu+/I3 l 23 24 o =
JlHinpoBchke 6.1 8C3(52)2C3(64) 1A 21 24 - =
JlHIMpoBCLKe 1.2 10C3+bn I 25 32 = -
Juinposeske 1.2 10C3K | 16 16 KOpeHeBa -
JHIDORCHKE 13.6 10C3K l 22 22 KODEHEBA -
Auinposcnke 1.2 10C3x i 20 20 KOpEHEBa -
Juinposchke 5.8 10C3k A 23 22 KODCHEBA -
JlinpoBsenke 1.2 10C3 I 19 20 Biamupaun e
Jluposenke 2.5 10C3 1A 21 20 Ta -
Juinposeske 4.7 19C3(S2)+C3(62) | 20 22 JIEpEB «“
JHinpoBeLKE 1.9 10Ca+bn | 24 24 = =
JIHinpoBenke 1.5 10Cs i 27 136
Beworo 56.8 ‘ -
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